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> HED 167

=

=2

U=1{1,2,3,4,5,6,7,8} ,

A=1{1,2,3,4,5} , B={4,5,6) °|1,
A°NB°NX*=(AUB)-X

(AUB) ={7, 8} 0|B2 X =HtTA] 7-& Y42 7} of g},
T, A-B={1,2,3}°]1, (A-B)UX=X=>A-BCX°|E&
X = HEA] 1,2,3 & Y42 7hAof gt

wrabA 9t x 9 o= 2837 =16 ()




47.

n(U) = 50 4 AAHT U o Al FEHAR A4,B,C 7t F I Ze
AL HESH W, n((ANB)U(BNC)U (CNA)) 9 k& 5ozt

kN

e n(A) =38, n(B) = 31, n(C) = 27
en(ANBNC)=9, n((AUBUC)) =0

=
[=

>
> =g 37

~&B

n(U) =50 ,n((AUBUC))=0—->n(AUBUC) =50,
n(A)+n(B)+n(C)—n(ANB)—n(BNC)—n(CNA)+n(ANBNC) =
50 o]|BL=2,
38+31+27-n(ANB)—n(BNC)—n(CNA)+9=50,

- nANB)+n(BNC)+n(CNA)=>55
~n((ANB)U(BNC)U(CNA))=n(ANB)+n(BNC)+n(CnN
A)-2xn(ANBNC) =55-18 =37




48.

AA-HRU o] = FEAR”YA, B ol Histe] A4t k EAXB
B)U(B-A) 2 AT I <B7|>F 2 AS BF I1E 2

@ A% B = BkA
© (A% B)%C = A% (B%C)

® A% B°=A%B

® AkAkA=A

® 6, ® 0,0 ® 0,06
@ ©, 0,6 )9, 0, ©, ®

~&B

@ A%B=(A-B)U(B-A),
BkA = (B-A)U(A-B)
.. A% B = BkA

AUt
A A A A
:‘Béc': :'Béci: :‘Béc': :‘B—gic':
A% B (A% B)*xC BxC Ax (BxC)
© A B = (A° — B°) U (B° — A°)
= (A°NB)U(B°NA)
=(B-A)U(A-B)
=A% B
@AXA=(A-A)U(A-A) =02,

AKAKkA=0kA=(2-A)UA-2)=A
LREE




X =1(1,2,3,4,5,6)°]1 A= 12 EZJ5l= x oJREZGo|1 BE=
E Xt X o FEHTY o, Au B2 Y49 5T

® 32 @ 40 3)48 @ 50 ® 52
n(AU B) = n(A) + n(B) -n(AN B),

n(A) = 2° =32, n(B) = 2° = 32

n(ANB) =1,5 2 2% I3t x o] REAZ 0] Fj4olmg
n(ANB) =2* =16
“n(AUB)=25425-24=32+32-16=48




= 2e] o] g FNA 2 9] wis-ol At 3 9 w50l BA 8 <] vj4t
obd e mX W 1A Fsfelet

> E M

U ={10,11,12,13,--- ,99} o]

2 o v HotE A, 3 9 vl b= B, 8 9] "4
Aot C 2l 5hE,

2 O] Hlja=o]| AL} 3 o] Hijg=o]HA] 8 o] Hij=7} obd 7 o] HeH2
(AUB) - C o[t}

n((AUB)-C) =n(A)+n(B)—n(ANB)—n(ANBNC),
ANB =6 9 v ol AnBNC = 24 9 vj49]
Heol2m

45+30-15-4 =56




